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In the case of a man being wTpN a woman Dy 'Y INRYY PYWIYN, we saw that 19 says it will
always be a pwYT'p P90 (the pov is if OV ' MR is a 'RIn or N7N), while YRNW says it will only be
a pavo for 30 days, at which time the second »wy1°p is uprooted. Continuing in this discussion, »ax
understands 27 that if 12187 is WTpn a woman “from now and until 30 days”, and then Nynw is W1pn
her “from now and until 20 days”, (going onto .0) and then »% is w7pn her “from now and until 10
days”, she needs a va from 32387 and Y, but not from Pynw. This is because if it’s indeed a *Rin,
then the PWIT'H to 12187 worked, and the others were not Yn. If it’s a n91n, then the PWIT'PH to 1Y
worked, and the others did not work. »9 explains that the n91n means that the pwyTp should take
place at the later specified date. Since there was no other guy who came after »%, his pwvy1Tp was 5n
on Day 10, while the others would’ve theoretically been 5n on Days 20 and 30. The X313 asks that this
is obvious, but then proceeds to explain that we might think that the }Y»% can sometimes imply *Rin
and sometimes N3N, which would then warrant a v from everyone paon. Therefore, the X303 is
pointing out that the WY is consistent across the board.
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89 and »oR 11 both quote 13Ny »21 that in the case we brought by 14, even 100 (or any
number of) men can do PWYT'p. An explanation is offered by R 277 1’12 R'WIWN 17 that the men
are like a row of bricks, in that they each left space for another to come in. 9 explains the Svn and
says it applies to our case because each man left a window of time for someone else to do PWYT'p, so
all of the PwWY TP were PoaIN. However, R1an 11 asked from the following Xn»12: If someone gives
a vy and says NN IR DN, it is a PWIA PaD, so if the husband dies, the brother can only perform
n¥'5n and not Dy As YW1 points out, this is because it may not have been a v, so there would be
np>1, which n¥'9n would remove. However, he can’t do 012’ because if it was a v, there is an MR
N9 to marry your brother’s ex-wife!
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To say that our case (of N INRY DYNN by PWIT), and 191 DY 'Y IR DYAN by PYVITP)
is like 29 makes sense, as we explained. We can also say it works for YR1nw because this Xn»92 can go
like the 1329 (whereas YRnw himself is like v27). However, jany »a3 who says that Dy '> 9nrY »PwaYnN
"1 is a partial ywY1TP can’t hold of this Xn»92 because the equivalent expression by 1177 (of DN
NN InRYY) cannot work at all, as a V3 needs to be a complete severance between the husband and
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wife.” Therefore, since it’s not even a V) »av, there should be a np’r and the brother should be allowed
to do oy’ if the husband dies! X217 responds that V) and nn’n are both similar in that they remove
the wife from the Yyan mw1.2 Therefore, whatever the V) leaves out, the nn’m can finish. Since he
was only divorced paon when he said nnm InRY DN, the fact that the husband died allows the
wife to remarry (and not be D2’ nppr). However, »aR points out that this comparison is incorrect,
as a V) removes the woman from the nywA of the Yya as well as the D22, while nn'm brings her into
the mw1 of the pa» Rather, »aR says that the reason a v of NN M INRYY DY’NAN is problematic is not
because of 11w, but because it’s too similar to the case of 'nn oXk nynn (from today /f1 die), which
everyone agrees is a *Rin. The 871 then asks that if we’re concerned people will confuse 9nRYY DYAN
nnen with 'nn DR oynn, then according to 13Ny 27 where NN INRYY DYNN is a 7YY and there
would be npo1, we should say that the woman is required to do nx*n by 'nn or oynn (even though
the divorce is completely 7w3)! We don’t require them to do n¥*>n, because that will lead people to
think there is a possibility to do oya’. We can’t have this by *nn oX nynn, because the divorce is 93,
and there would be an 175 7199°R to be with your brother’s ex-wife. Why are we not worried about
this in the case of nnm INRY DN, where we tell them to do nx'on? If they do oy, there is no
problem, as it is only a 13297 wwn. This is because jany’ »27 holds that a 91w in a V) does not accomplish
anything, so there is a real 02’5 np1, and there would thus be no problem to do Dya’. Nevertheless,
we don’t allow them n%nna% to do 0127, because of the wwn that this case would be confused with a
case of 'nn R DYNN.
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We explained jany »279’s nvow of N2 PoaIn NRN 19%aR to mean that each man
does a pWYTP 173 and leaves over a bit (i.e., the 11 is not complete), since the wTpn
is making the 1w Tp only be complete at the end of 30 days. »¥1 said that we can’t
explain that jany »a7 is payon if the PWH of DY 'Y INRYY PYWIYN is a 'RIN or NN
because the n1wn’s usage of the word ooy would be incorrect, as the pwyTp would

" This seems to be how "1 learns, but there is a clear difficulty: If a 9vw in a V) is viewed as nothing, what is nnm
completing to allow the woman to not be DY npwp1? It should be just like a case where there was never a divorce, and
there should be potential for 0127, but the X2 says it’s only a pav, so we make her do nxn!

2 See .2 PWVITP
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only be vaIn for one of them (as we explained above). Since we don’t know which
POYTR is good, we require a v from everyone pavn. However, the w9 of poan
would imply that they all work to some extent.

Why do we say here that there is partial }Pv17p, being that the .t ®91) says
you can’t marry half of a woman? The reason it doesn’t work in that case is because
half of a woman cannot be married, so there is a 9% in the woman herself. In our
case, they did not leave over any part of the woman, rather they all married her
completely.

What is the problem with being 92wn in a V3?2 We saw that »w9 says it’s not a
nmn»o. However, maoin thinks this is difficult because if that were the case, we should
say that a 9w in PP (Which is the case of jany »29) is also ineffective because we
compare w117 and pwITP! Rather, there is most definitely nyn»> in being 77wn in
a v, but the X1 means that this 919 of N n MRS DN doesn’t work because it
can only be completed after death, and nn»m InRY vV PR, The same logic would apply
to PWITP, in that NN n IR 01NN would not work. In our case of 'Y ANRSY PYIYN
v, since the pPwITH» CAN be van after 30 days (and there is no 91w), we conclude
that the w1’ indeed works. Only in this case does m1avIn allow for the potential to
do D127, because the 71w of NN INRYY DN means the V) would continue to take
effect after death, which makes it 5105. However, in a regular 91w, there would not be
a possibility to do D12, since the w177 already started.
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The niwn says that if you do pwy1p with the condition that you will give 200 11, the pwIYTP
is good provided you give the money. *®1 explains that the pPwyT'p is done on a separate NV, and
there is an attached condition of giving 200 131. Similarly, in a case where he says he will give the money
in 30 days, if he does so, the pPwyTp works; if he fails to do so, the PwyTp doesn’t work. In a case
where the condition is if he Aas 200 11, the PWYT) is good if he has the money. If he says he will show
her the money, he must show it to her. However, if he shows her “on the table,” it doesn’t work. 94
explains that he is a »3n% W (a bank teller) and he shows her money that he does not own, and she
assumes that the money is his.
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3 See later on :0, and see 1.3 Xno0IN where the husband SAYS he will show her his own money.
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The nwn said that if a man does W11°p on condition that he will give 200 11, he must give it.
RN 27 understands that when he gives the money, the pwy7°p is YN from the time he gave the nvo.
However, 07102 27 says the w1 is only Yn at the time he fulfills the condition. ®110 27 understands
that the 200 11 is merely a *Ran, but the PwYTp is still a pWITP (provided the *Ran is fulfilled) because
he gave a nvY15 Mw, while N1’ 27 understands that he made the 1vy1'p only be 9n at the time he
gives the money. A n”pa1 between these 2 approaches is a case where she accepted PwrTp from
another man and then the first man fulfilled the »8in. According to X130 29, the second PwYT'R would
NOT be a pwyT'p (because it turns out the first one was Yn retroactively), while nmn° 27 would say
the second pPwyTR» works (since the first WY was never completed). We taught the same idea in a
mwn by pv: If a man divorces a woman on condition that she gives him 200 11, they are divorced,
and she must give the money. R0 27 says that when she gives the money, the v is Yn from the time
he gave it. However, N7y’ 17 says the V) is only 5n at the time she fulfills the condition. X330 19
understands that the 200 11 is merely a *Rin, but the pwys is still a w2 (provided the *Ran is
fulfilled) because he gave the v3, while N7/’ 29 understands that he made the w1723 only be Yn at
the time she gives the money.
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Going onto :0, the X1 asks what the 1n”pa1 between X130 17 and T 24 is. YW1 elaborates
that even X110 29 would agree she should not remarry until she fulfills the *Ran, because if she fails to
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fulfill the *Xan then there is no divorce, and any children from her second marriage will be n»™an.
The n”pai the RNy suggests is where the V) was torn up or lost and then the woman fulfilled the *Ran.
According to 8210 17, the w117 would be Sn regardless (because the w117 happened already at the
V3N Non), while N7IN’ 29 would say the w1773 would not be Yn (because it can only be 5n once she
fulfills the »Ran, and now there is no V). Why do we need to say the n5nn in both the case of
PWVITP and pw11? If we had only said the npyonn by pPwIT'p, we would assume X317 29 says it’s Hn
immediately because he wants to bring her closer, so he makes the pwy71°p be YN sooner on the nvIa.
However, by w1723 where he is trying to push her away from him, maybe X211 27 would agree to 1
N7 that the husband only wants it to be Yn when he fulfills the *Ran. As "4 explains, this would
give the husband time to appease her. If we had only said the npyonn by w9, we would say that
RN 19 says the vy is Yn immediately because he won’t be embarrassed to ask her for the money to
fulfill the >Rin, so we know it will happen. However, by pwy1p, the woman would be embarrassed to
ask the husband for the money, and she only accepted 1>w17'p on condition that he gives the money.
In this case, we would think R0 27 would agree to N’ 27 that the PwyT'p only happens once the
»Rin is fulfilled. Therefore, the X clarifies by stating the npyYnn in both cases.
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When discussing the npyonn in the context of w177, the RN offered a n”p
of the woman accepting pPwyT'p from another man in the interim. However, when
discussing the n5nn in the context of pPwi, the R0y offered a new n”pas of the
V) being lost or torn up. Why did it not give the same n”pa1 of the woman accepting
a second PWYTp in the interim? If we copied the case to w177, we would see that 19
RN would require a v from the second man (since the w1773 to the first husband
was 9N immediately, the second PWIT'P was a 11193 PWIT'P) and N7’ 27 would not
require a v (since the w7 to the first husband was not yet Yn, the second pPwvy1'p
could not have taken effect). We can’t say this, because n71n° 29 would still require a
V3 out of Pav, as the RN says in .TY PO,

On the flip side, why did the X913 not take the n”pa3 from w1773 and say it
by WP, namely that the pwyTp (money) was lost, in which X110 27 would say the
1PV’ was nonetheless Y1 already, while N7’ 27 would say since the 'Rin was only
fulfilled now and the money is no longer around, there is nothing for the }»vy71'p to be
5n on? Everybody agrees that even if the PWYT'p money was used up, the pwyTp is
5n because it was given for the sake of Pwy1'p. We see precedent for this from the
.01 R where the PWITH can happen after 30 days, even if the money was gone by
that point.
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The Ry asks on nTIn’ 29: If a man gives a woman a v) on condition that she gives him 200
11, even if the V) is then torn up or lost, the w72 is YN immediately (yet she should not remarry
until she gives the money). Another ®n»192a taught that if he says this and dies, if she already gave the
money (before the husband died) she is not D2 nppr, but if she didn’t give it in time then she is
DY nppr. However, 3"awn says that she can give the money to his heirs after the fact. The nTpa
nponnn is only if the 'Rin of “you will give me” can include the D>w3y, but everyone nevertheless
agrees that the 1YWY of nan Yy is a *'Ran, and the w1 is Yn right away! nmn° 27 would answer that
this np15nn follows the opinion of »27 that man Yy means Ywayn. However, the 1327 disagree with »29,
and nm? 21 follows the opinion of the j1a1.

N)IN 19 quoted from 27 that saying nan 5» means YwaYN. However, X771 227 comments that
he heard this version in Y23, but in YRw’ IR, it was reported by »oX 17 that everybody agrees that
nn 5y means YWIYN. The npidnn is in a case of NN M INRYY DYNN, where the D NN are paYon, but
»27 says it is a V3. For N7’ 29 who says that 27 and the 1327 also argue by nman Yy, why does the
N2 choose to say that they argue by nnm InrY Dynn instead of saying they argue by mn Sy?
The xn 2 wanted to teach the impact of »27’s opinion, that he says even nn’n INRY DN is a V).
Why, then, doesn’t the Xn»1a teach nan Yy to show the impact of the 1327’s opinion, that even 5y
nan is NOT a va? The power of a lenient ruling is more powerful than a strict ruling.

mavin
"0 IRIN Y797 YarR” 0”1

XYM 1N NV DIWIPY NIMI NN HPARY MYIVY IR MY INNY NP W9 DRY TN PN IYARY WIS
1277 239 RNT V3 NN RY PTIOT INNWIY 1YY INRT ITI? 27T RN2YM INYIPYN YIanY RV Y MINT
DN INRY VI PRT RO NN RY RN ROV RO NN Y

920 P"NT 3”2v7Y PN P2 YA RNAY WY 192ARY YD 1720 PIT RNDT ATINY 275 NYWPN RN INRN DRI
1YY YN VINY DWIPY NINNT IIRP A"V RNIN 29D 920 172w VI NN RYY INNWIY INRT AT 17D
NTINY 299 NXIN DR NN2PNNT 9™ DY APIPT 1AM RY INRPT PVHNT RIMY 7YY ynwnT Y™ yranh
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The R®n»92 we brought in to ask a R'Wp on AT 27 assumes that both the
"N and »"aw hold that nan Yy implies a *Rin (and the MYn would occur right away).
mavIn elaborates that even the p”n would be NN that if he specified that the woman
can pay the Dow1v after his death, it will exempt her from being D2’> npIpr since the
03 will work y1an5. This would refute n730° 29 that it wouldn’t be a V) because she
only fulfilled the *®in after death, and nnom INRY VI PR.

Why do we have to say this Rn»12 refutes N7’ 219? Maybe everybody says
that the condition includes the ability to give the money to the D*w1, and the npYynn
in the X1 is that the p”n holds like N7 29 (therefore the v didn’t take effect)
and »"awn holds like X330 27 (and since the V) took effect, the 'Rin can be fulfilled
through the D>w1v)! We can’t say that, because the W% of D29 Npipt in the XNy
implies that she has the potential to do n12°. However, based on what we said in the
last mavin that N’ 29 holds it’s really a w1 pav, there would be no n’n for
DY, since if she gives the money to the o*wy, then the V) might have worked y79n%
and you’re not allowed to marry the nwyax of your brother! This, therefore, proves
that 7Y’ 29 has to say it’s a W7 PoO because otherwise, we could have suggested
that the »”n of our Xn»11 holds like TN 2.

570p ,INRP 7OTITHY ,RIN DRIN IRY RIINT INN IRVIVA 197 IRIN 1Y INRY mn HY

RY 1Y W RNYW 11VIN RN TP 11D WY RNV WIN?Y /191 1T DINRND DWW nan Yy
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The niawn continues that if a man says to a woman you are married to me if | give you money
within 30 days, he has to give the money within 30 days for the pPwy1’p to be Sn. Seemingly, this is
obvious! We might think that it wasn’t really meant as a *Rin, rather she wanted to motivate him to
give the money. Therefore, the n1wn teaches that it is a bona fide *Ran.

The nawn continues that if a man says to a woman you are married to me if | have 200 1,
they are married if he has the money. Asks the R9n3, shouldn’t we be concerned that he indeed has
the money (even if he doesn’t show it)? Furthermore, there is a Xn»92 that says we are concerned that
he has it! It’s not a R*wp, as the mwn refers to a 'RTY *VI1Tp, which can’t be confirmed if he doesn’t
present the money. However, the Xn»12 refers to a pav *wy1°p, which we have to be concerned for.

The niwn then taught that if the man says he will show her 200 11, he has to show her the
money. The 8n»12a clarifies that she assumes that the money she is being shown is his. This being the
case, the X3y then asks on the last line of the niwn what the wy1'n is where he is a bank teller and
shows her money that isn’t his. Obviously, the 1917’ doesn’t work in that case! The niwn needed to
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teach that it doesn’t work because you might think that if he is using someone else’s money to gain a
profit, it should be considered his. Therefore, the niwn says that nevertheless, the money is not
considered his.

2N PWIT'PAY P03 'RIN
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Picking up on the discussion of D*Rin in PWIT'p, the next NIwnN continues that if a man is VPN
a woman on condition he has a 715 n’a of land, they’re married if he indeed has it. 4 explains that
a Mo nais a plot of land that can plant 30 XD, and each NRD is 50 by 50 MY, like the 9xn of the
19wn. Therefore, a plot of 30 "RV would be 1,500 by 50 MR (or 75,000 square NNR). To make this
area of land into a square, it would come out to a little over 273.83 NiR by 273.83 NnX. (The square
root of 75,000 is a little over 273.86). Continuing in the niawn, if he makes the marriage conditional on
his having land in a certain place, if he has the land then the pPwyTp is good. If he says | will show you
a M1 2 of land, he must show it to her. However, if he shows her land in the valley, the pwyTp is
not Yn.
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Asks the X903, shouldn’t we be concerned that he indeed has the land (even if he doesn’t show
it)? Furthermore, there is a Xn»M2 that says we are concerned that he has it! It’s not a R'wp, as the
mwn refers to a *RT 'V 1P, which can’t be confirmed if he doesn’t present the land. However, the
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Rn»21 refers to a pav »wrTp, which we have to be concerned for. This is an exact copy of the
discussion we had earlier about money. Why do we need to repeat the discussion in both cases? If we
only had the case of money, it can be hidden. Therefore, we should be concerned that he has it even
if he doesn’t show it. However, we would think that if he indeed owned the land, there would be a %p
that says it’s his, and therefore there is no pav. Therefore, the N1wn equates land to money to say that
if we don’t know he has the land, we still need to be concerned about such a possibility.

The nmwn continues that if he makes the 1>v171'p dependent on if he has land in a certain place,
then he has to have that land. What’s the wy1'n? We might think that he can say that it’s irrelevant to
her since he will go through the ®nv*0 of shlepping the crops back to the house. Therefore, the niwn
teaches that the pwyT'p is otherwise not Hn.

The niawn then taught that if he says he will show her the land, he must show it to her. The
Nn»Ia clarifies that she assumes that the land she is being shown is his. This being the case, the X7n)
then asks on the last line of the niwn what the wy1'n is where he shows her land in the valley (where
"9 on the Nwn clarifies that he does not own any of the plots). Obviously, the PwyT'p doesn’t work
in that case! The niwn needed to teach that it doesn’t work because you might think that if he shows
her land that he is sharecropping (which he doesn’t own in principle, but receives a portion of the
crops as payment), it should be considered his. Therefore, the nawn says that nevertheless, the land is
not considered his.




